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Math 10C Review
Yo be completed before starting Math 20-1

gnoatd be
1. Identify the error in each of the following and show a correct solution.—2L
1.2 3,48 — 34 sl 1__ -2+ 17
a s+s=c+2 Gl b. =5s+25= "=+— — e
do
_ 3+4 rmti =344 -8 U = =Y2 411
= 5 qd — 8 —_ — ——
dmomfﬂﬁ’mrs ° ¥y
7 = _ 21
T 2 ="% = "33
g
2. Add or subtract the following fractions by getting a common denominator.
Show all steps of work. Express all answers in simplest improper form.
2,4 210 412 11,3 Q3 2,01 M, 5
a. S+ ST b. Z—3 - = c.3;+2; =3+ 3
= A . 15
- aa = l -—‘a—- + —-C-
15 ©
= 37
b
d 2-1.5 _ 4 e. 52 —28 -2 _ 17 £ 3435 9,18 _20
12 3~ 737 3 4 4 G 8 4 & ¢4 4 Y
i = B34 = T
) 1z a4
il
!
42,1 _Hg_4Ho 415 -2 - b -2 -1 =
+=-z -1 +12 h. 6 = e -= i 1 = _ |
9 5 3 4 Lo O LO 1 3 %‘ —I-
= 23 =17 -2 =9 .5
= _
3 S 4
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3. Multiply or divide the following fractions. Express in simplest improper form.
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4. Convert the following radicals to simplest mixed radical form.

a V50 ={a5-2
=Jz5 JZ
= 5J2

d. 445 = 495
=4§9J5
= 4()5
<15

i

. () - 12

1,45 - -5 = 1l
k. —2:+12="2+

b. viZ =43
SITINES
= aﬁ

e. V21 T J&i
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c. V60 =J4-15
= aJis

f. 2v48 = 2163

= aJie 3
= 2(4)J3
=§J3



o V32 =84

j. V99x® = JqRT-In
- 3 Jiix
= 3'1-\}“ Cs

m. 220 = aJ4-5
.:,')J'Ci*.rg
:Q(Q)J-g

h. 5¥250 = 539135 "2

= 5135\
= 5(5)N\ 2
253

k. v600a

= J100 « ba.
= joo Joa
= 10d6q

n -1¥16 - -|\3g .2

= —]\-,[g\e}':i'
RTONE
- 29T

i, 6108 = &\F27- 4

:(:\255\3)7"'_

26(3)¥Y

=183

| Y162 = \gJAT1- 6
=31 2o

= 336

0. /700x2y = JTOOX'L.']J

= loxJ"?—j_

5. Complete the following chart by converting between radical and exponential

form.

Radical Form | Exponent Form
v “fs
3
Jx 2
3 72
L 5(ac)”
3
Wy |
3 L
V6 .3
Wy 42




6. Fully simplify the following exponential expressions using the laws of exponents.
Express final answers using positive exponents only.

b 3 p-7q? 2 ~9 1o 4
a Gy = 12> b (EE) <(p g ) . (a7b)(ab™").
Lip 20 ALY
=P ’:1, -10
20 O b
= i 7
__Tg- - "c}-ﬁ;')
P b
5 -q -1\2 3 - -‘*l
d. (%%—) (BIL v ) e. (-8m™3n?)(2m°n)? f. (;::::_5)2 ={=3m 3n )
- qu'-lﬂ\la 8m-’5n?-)(3m|5 3 . CI e
~G4m e "
=9 - an’
wFv* m"
g. ™) =100 ° h () (~2x-8y77) i, (s*2)3(s75¢3)?
= e 121 6 -6,
‘ )ty (5TE(ST)
=10 . &%
= 61—:\5—1 =S
XY
i. (=8r3s-5) (=) K. (:;’:—;)_3 . (—5a?b*)(2bc=3)2(~3c*)3
(8757) (5+'s") (sece)” R e
TN 540 o b
sb‘*ca’
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%

C



7. These problems have some of the most common mistakes that students make
with exponents. Three of these problems are correct. Circle the correct ones &
explain and correct the mistake in the ones with errors.

a) (*y)(x%y*) = 2xy* b) (3m*)}2m®) = 5m® ¢) (6a’b)(2a°b*) = 12a%b*
‘ added the 2 terms Lr_—g:ged o multipl forget +o add b
, g \nstead of multiply Coetrtier4s 2rponents ob
xXY 6m? 124k
d 424 2 :445 5f37f5=3515 f U = 5,2
)(4r°a")(PPq) = 4p*q°) e) (5 X )mdfoadd ) (¢y)y= Xy e exponents
A 5 s head L muttiply exp ‘
\/ 8 2xFone : ins b 2 “ns-fmd of add
35f of muttiPY XY 9

mulfiply these add exponents en g

9) (mh= > WGy =2 b (agig) = 165
:

. 2xponents v Y
m J
i) (5X7y*= Bx¥y® k) (3a’b?¥'= 9a'’b® ) (-m*n)(2m°n) = m%n3 .
Coeffrdent is” 5° = 3135 Coefficient Showid muli;rhi oeffiuents
be 23 =21 and add’ exponents
35 20 3 ,
35 = \j a'hﬂbk ~2mn°
m) (-m?)(2m°n®) = 2m’n* n) 3x(4x%y)¥= (12x%) = 144xty?
i) Forgot 40 multiply ‘Nmust do +hais First !
4 M ENQR) o get s (roate?) = ue 5,2
- 2amn CoefEicient 3x(i “j ) -48)(:,
ST
o) w'(3w? + 2w - 1) = 3wl + 2w - 1 p)(5xy*(5x - y) = 25x%y* - Bxy*
- need 4o use distnbutive law ;
to expand L
3w°raw’ - w

missing exponent
q) 3E(x* + 3x%+ 2) = 3x* + 9x* + 67 : r) E@ﬁb:’) = 8a*b + 7@_‘ heve
< mulhply the toefea ents

correct answer Oi{oan not \nGreac! of addfr:j them
+hese
AT A Ferms fogether. 50 v 10ab’

They are not
Thike” ferms.



8. Kristine was solving some linear equations. Her work is shown below. Each
solution is incorrect. Identify the error & provide a correct solution.

b)
F-5C = -31 4x -3 =11
-9 -g v3  +3
-5¢ = -45 4x =ao
-5 -5 4 4
C,‘:q x = 5
need o
divide by Y instead
of SUbi"‘Gd"“j
9. Solve the following equations algebraically. Show all your work.
a) -20 = -4x - 6x b) 6=1-2n+5 c) 8x-2:=-9+7x
-0 = ~jox L=(-an ~Tx X
-20 - -10% -e "t x-2=-9
=10 -0 o :-an +2 +2
2a=X ‘3 -2 xX= -7
C=n
d) a+5=-5a+5 e) 4m-4=4m f) p-1=5p+3p-8
+5¢:L +5¢L ~-4m ~m P“i = SP_B
ta+5= 5 ©-4=0D P ~P
-5 -5 4 #F0 -l =77p-8
e no Solution 8 T ¥ - o
£ ¢ a=p Vs =
=0 7 7
g) 5p-14=8p+4 h) p-4=-9+p i) -8=-(x+4)
-5p ~Sp -p ~p 2_5
-~ 3p+4 TR 8 -x -y
-4 -4 _‘:7_‘_ Z +¢ +4
18 =3p . -4 =
S & no selufion -
“(D:P q-.:’x
Jj)12= -ﬂ;ﬁx-S) k) 14 = -(p - 8) ) (7-4x)=9
2= 2q »12 14=-p 8 ~T+4x =9
-12 -1z -8 "B B v
O =4« =-p ixl'&
3y 29 o= 4y
O =X ~b = p 'X'—'LI



m) -18 - 6k = 6(1 + 3k) n) 5n+34=-2(1-7n) o) 2(4x-3)- 8 = 4 + 2x

- KK Sn+34= -3 +14 - -
161_5‘!2» b +1E i e _;:q"5?‘ B8x -6 -8 _bf-l +ax
—-IB—Cii-a"“‘ va 2 0 _8;;‘“4 “qt?;
- - - iy =
-2y =24k a—;; g_ﬂ é{xi-li-l-f’ -l-'l-{'-[ x=3
Iu Y - -
atil . L} =N é'X 18
p) 3n-5 = -8(6 + 5n) q) -(1+7x)-6(-7-x)=36 r) 24a- 22--4(1 6a)
3n-5=-48 -4pn "l T 443 tbx = 3L Qda -2 = -4 + QY
+Lf0n +4On Hj = x =36 - A4q -4 q
H3n~5="Y8 -4 ey —a2 7y
"g *5‘_'3 -% =-5 ~3a5t 4
B = - ] ‘
CES <Y x =9 2% No Solukon
=-]
S) -3(4x + 3) + 4(6x + 1) = 43 1) -5(1 - 5x) + 5(-8x - 2) = -4x - 8x
TIx ~9 + 2Hx +Y =43 "5 +35x 40X "ID =712
13x -5=-43 ~15¢ —-15 s-ladx
+5 +5 +15% FISx
19x= 48 -15 = 3%
Iz 2 3 3
xX=Y —S5=%x
10. completely factor the following polynomials.
mul+ -8 6 _3
a) 2x*+3x-9 add 3 b) 5x? + 19x + 12 mu.cl‘i &> {154
(ax-3)('x+3) 'x +3 (X TB)(S?U"-}) S
x| @x _Xt3
Y MY 12
c) 2w +Tw+5 it IO 15 d) 2p2+11p+5 J{
. o ] \ D
Gurshon) T GrsYapr) Mt g
W4 | +
QW m Qw 2‘)'2_ IDP
5 5w 5 2
w) Ip 5
e) 3v2-8v+4 mul b 'QK-G -3 f) 3x*-2x-5
a)av-d) T 3T Gy axes)
v -2 mwit =I5 § -5 3
ada -2
3v 3Ly ad

|- 3x -5
QA 1AV Yy % (3= [~Bx
"'(1 3% |5




g) 25n* -1 =a5n"+0n-! %yo-ﬂ-s'sh) 9?2+66m*21 ) muih a?g, |
= 3(3m raam+7 add 22 '
5nfl\ Sn-1) 5n - _
( ( 5 [ =3(3m11) (n+7) e
1—I 5 - 3“’\ 3""\1 alm
1 llm 7
) 7¢°+53q+28 . a0 j) 2x*-18
T - %D
(g1 (q+4) oS3 JEEREEy st 172
-nﬁ%% =207 ox-9) []-—'3
q - - z -3x
= x-3 X A
ol 2% 2Axt3NE3) ol Lo
k) 15n%-27n- 6 S 1) 5r®-18r+9
- z_ A IR -
=3(5n*-9n-2)  odd -a,:l '©) (5v~—3)(r-5) a"‘ﬂ:H_‘:?] 15-3

=3@Bm)(na)  n -z -
5n } on%-)10n S5v | 5 -I5r
1l ln -3 -2 =3 9

m) 4n® - 15n - 25 n) 4c®- 35¢c+49 -2%,-7
muly —1007. Mt 196
(h-5)(4n+5)  aad s [ (de-T)(eT)  aig -35] '
n -5 —c -1
Yol thh? ~20n He| He™ -a8c
+5| bn ~-35 =71 49
0) 4x?-17x + 4 ) 6y*+7y - 49 mult =294 | 2l —tY
mu,H' 2 ) -t ~] p y Y dd i
~1)[x- add -17 s 2 -7 add ]
() (x4) 7 Qyr1dEy-T) o
Hx | 45 - —lbx 3yl &4° 3y
N Rl PO ¢ ~1 ‘l‘l’j -49

r} -6m? - 25m - 25

(C:K*'\(KW) it 3 3 | == 1 (bm™+25 +15) m:j* 2550 15 10

add 37 a
RS @E) g s

K
6K | 6K 36K 3Im [m* 15m
i1 | IK @ +51/10m 25

q) 6k¥+37k+6




11. Solve the following systems of equations algebraically by using either the
elimination method or the substitution method.

a) y=-3x+4 _ _
y=3x-2 lnm@hnj
33=2 ar (_I||\
3=

+hen 3-57& 2
-3%x-a

5 o7,

f =K

) x-y=3 —>% -4 °3
_|(7x-y=-3)——7—'lfx HY =3

-6% =0

+Hen ’)L—j:"j L

‘l‘j:3 1nRerSech
g1 At (o -9)

\j:_Lf ( b

e} y=4x-9 — Y= 4x -9
4y =x-3)—> 4y = -4x 13

a4

_33 = 3
then dqu-‘i J :_l
=1 =4x~9 tm‘cmechrlﬁ
8 ~4x at (g -
g) 6x+8y=-22
Y:
Gx TS’(‘5): 42
6x -40 =723
ryo  THO
6x =18
b M

\ ~ x=3
nhrsechng a4 (3,°5)

b) y=x+2 "—'53‘_'7‘*3

d) 4x+y=2
X-yz3—> X=3+j
Lb(—f—:j:a So
l—/(&rj)tj"&
'a+qj*J:9
la+5y *
f) 4x+2y=10 3_-3
Y=
X-y=13 9 =134y

X=3
7c—-3 =
=
Intersec hig
ﬂL

(1 -a)

gy +ay = 1D N
f(3ryYrayzo 278
<10 -
5a +;§+er‘ o %= G ‘
e};j =43 intersechy
x y=-1 25 ((7 '7)
h) -3 -7x + 2y = 18)
+ —> Alx -6y = ~5Yy
bx+6y=0 __ 7 L +Q,:j
371 = —54
6%ty -0 x =74
G(-2)164“ 0 |
:jj: pal ("Q 9.)



i) -7x - 24 = -4y J) X+7y=0 ¥
4x = 4 . . 2x=22+8 x =+
Y Tfy 1 Ferseching A S J
’X:j at '){f'fJ -0 -
x=1+y
-Tx-24 = —‘Jj (—‘[{(-83 !I'r‘iJ f_lj % i J
~7x -2 Yy i+ 1y =0 x=l TL{(")

-al = dx . X =7
"8:')5 Iy = I

971 \nferseching at

k) 4x=20+y — 4x-zo=y ) ,20+8x =6y (1,"9
0=2x+2y+10 7y = 16x + 30
0 = &x 1‘3(47"30) +10 ;2(89‘ -6 :—Qo)—a lox-124 =~40
O=a3x r¥x -4o +10 -Mﬂj =30 — =lbx 4 =30
O=-10%x -30 341—30 -5y = -0
30-':[0'?( - -2 - j:a
_ Y- 43) WTEX=06 Y infersect
2 N DTEXLT3) 5 gx- -3 af
S _ aj“-&x:ta/ ?—‘.'_-_ a
Intersecting gt (3,78) e 28 x=-l () 2)

12. Mrs. Properzi was trying to solve the system of equations shown below by using

the substitution method but she made an error. Find and correct her mistake.

Descrl&qgg‘t_:\fError:
_3x+5y=17  Solution: [333%] - _3(._}3 __15\1- 5y e ]
Ix-8y=-30 -13y+ 45 .
-T'l\e' L’S ShDUJC( be’ POSI"'I ve,
-3x+5y=17 Correct Solution;: and ‘FWHO" '*'Sj
2x—By=-30 =4y-15 | 9y -8y=-30
ax = 8u-30
—3(4y—15 = 'i‘j =) X = 43-05
-12 _ Z -
T12y=62 x X= 45
3 P x =
=% > + 54 =17
x=4 2]-15_2_ﬁ_2 _3@3453 1-5'3 T - (ntersectin
6 3 3 3 T1y 45 + By =17 at (I"—l)
1y - -28

3



13. Katherine was solving the system of equations shown below but made a terrible

mistake. Find & correct the error.

Tx=2y=24
—-XLy=-2

Solution: dependentsystem,
infinite number of solutions

_— This needs to be sulesituted )
4

Description of Error:

info +he OTHER equation (1%-3y
inStecd of the Same, ecbua.h‘on.

7_"’;_21; :2_42 I / Correct Solution:
| T —-%X+\ = -3
-x-:-(x—2)=—2} ‘j gl Lot jj :’i: _3
—2=-2 Tx-3y=ay J )
Tx-a(x-2)=ay g2
Tx~3ax +4 ~“9"I |n+(’.f5€(l1l'l\r5
S5x +4 =34
57:-‘-52_0 y (4'33
5 5
x =Y

14. Solve the following triangles for all the unknown sides and angles. Round sides
to the nearest tenth and angles to the nearest degree.

adj o PP

C
<A=I180™-90 42"

A=37
B=53"

C=90

a=3.0
b= #.0
c:=50

- 38" <A = 150'-90"-53°
sin= 2pp Ltanf= 222 =37 |
h"fP qu opp ODS 6: ad[
Sinpa= 2:6_ taneas 2. Sin 67 8 hyp
Y 7« _"”‘g’ (0553- a_
c @D asi@e BT S
Sine3d Ton o2
- b =(5)5n53) a* 5(cos53)
C=35( a=13.0 1 ‘
x=3:.0



d) a= 11" atH
B:73 b=13
C:ﬁo" e 13 b

A_:‘5}U o= ‘7
B=37 b-7.3

_ . ~ ad) c
C=90 (7l 13 opp
B A B
<= §0-90-5 e ko
ton 5= PP =0 Hz%\%% S AN tan A= ‘-C:J
banse 3 sm5it = 185 S
T
b= 1(5) -3 sn3) ok
ans| C=1i b B=180-90 -7
e) £) =73
B -
11.9
a*+lo®=c*
(1.9 r10%=¢"
aHlel =¢?
Ml =C
15:5 :C, Cj = |
A= cos (6(3)
B=4p° AT hs
then f=15p-00 -yo = 5p° ten B=180°-90"-yg"
9) I 9 h) = 42
3em sl P peblr e
nie 4 > B2 b7
SmA= BB ! B C=9 c:lo
hyp C,?.__ a2+b7‘
SnH0 = o - - 6
I owra B0 AT
o= 3SINYD b= *cosio & Y tan = ‘—i,i-;'
{ — -
o 1.9 s 2 31 C= L0 A~ {;an—'(mlm)
| A= ol
Bz 180" -90 - 6!"

= a9



